g'

GRANTRUCK

Suitable for IVECO



GRANTRUCK Group

GRANTRUCK

GRANTRUCK FOR SPARE PARTS

IVECO

RUBBER & METAL

220¢

PRODUCT GRANTRUCK ORIGINAL PRODUCT NAME DIMENSIONS MODELS
REFERENCE REFERENCE
Engine Mounting
GT 15077 8189379 Motor Takozu
Engine Mounting
aFsena 8ie920 Motor Takozu
504115825 . :
E Mount
GT 15154 SODATERD,  ~pae ool
504030203
GT 15115 41272825 Engine Mounting
Motor Takozu
Rubber Bushing, Cab
GT 15130 1907808 Kauguk Burg, Kabin
Repair Kit, Driver
GT 15130-1 19078088 Cap Suspension
Tamir Seti, Surlc
Kabini Yataklamasi
Radiator Hose
GT 15066 8161345
Radyatér Hortumu 60 x 60 x 1000
Radiator Hose Silicon
D:28 L:165
GT 15086 98438608 (Black/Red/Blue)
Radyator Hortumu

Silikon D:28 L:165

0.EM no's are used for reference purposes only and it is not implied that any part listed is the product of these manufacturer



GRANTRUCK Group

GRANTRUCK

GRANTRUCK FOR SPARE PARTS

IVECO

RUBBER & METAL

MODELS

DESCRIPTION

PRODUCT

NAME

ORIGINAL
REFERENCE

GRANTRUCK

PRODUCT

REFERENCE

@90 x 1770mm

Radiator Hose
Radyatér Hortumu

42088621

GT 15053

@90 x 190mm

Radiator Hose
Radyatér Hortumu

41026109

GT 15052

Radiator Hose Silicon
D:27-34 L:132
(Black/Red/Blue)
Radyator Hortumu Silikon
D:27-34 L:132
Siyah/Kirmizi/Mavi

93165466

GT 15087

Radiator Hose Silicon
D:75L:80
(Black/Red/Blue)
Radyatér Hortumu Silikon
D:75 L:80
Siyah/Kirmizi/Mavi

99454938

GT 15088

Radiator Hose Silicon
D:90 L:100
(Black/Red/Blue)
Radyatér Hortumu Silikon
D:90 L:100
Siyah/Kirmizi/Mavi

42070016

GT 15089

Radiator Hose Silicon
D:48 L:90
(Black/Red/Blue)
Radyatér Hortumu Silikon
D :48 L:90
Siyah/Kirmizi/Mavi

61586057

GT 15090

Radiator Hose Silicon
D:37 L:150
.(Black/Red/Blue)
Radyatoér Hortumu  Silikon
D:37 L:150
Siyah/Kirmizi/Mavi

93167510

GT 15094

Radiator Hose Silicon
D:50 L:180
(Black/Red/Blue)
Radyatér Hortumu Silikon
D:50 L:180
Siyah/Kirmizi/Mavi

500300763

GT 15095

0.EM no's are used for reference purposes only and it is not implied that any part listed is the product of these manufacturer.

> 221



GRANTRUCK

GRANTRUCK FOR SPARE PARTS IVECO RUBBER & METAL

PRODUCT GRANTRUCK ORIGINAL  PRODUCT NAME DIMENSIONS MODELS
REFERENCE REFERENCE

Radiator Hose Silicon
D:90 L:190
(Black/Red/Blue)
GT 15096 41026109 Radyatér Hortumu Silikon
D:90 L:190
(Black/Red/Blue)

Radiator Hose Silicon
D:90 L:310 (Black/Red/Blue)
GT 15097 41201190 Radyatér Hortumu Silikon
D:90 L:310
(Black/Red/Blue)

Radiator Hose
D:89 L:200 (Black/Red/Blue)
GT 15098 99440309 Radyat6r Hortumu
D:89 L:200
Siyah/Kirmizi/Mavi

Radiator Hose Silicon
D:50-60 L:80 (Black/Red/Blue)
GT 15099 4820463 Radyatér Hortumu Silikon
D:50-60 L:80
Siyah/Kirmizi/Mavi

Radiator Hose Silicon
D:20 L:250 (Black/Red/Blue)
GT 15100 4780550 Radyator Hortumu Silikon
D:20 L:250
Siyah/Kirmizi/Mavi

Radiator Hose Silicon
D:500 L:225 (Black/Red/Blue)
GT 15101 4792047  Radyatér Hortumu Silikon
D:500 L:225
Siyah/Kirmizi/Mavi

Radiator Hose Silicon
D:28 L:240 (Black/Red/Blue)
GT 15102 4788289  Radyatér Hortumu Silikon
D:28 L:240
Siyah/Kirmizi/Mavi

Hose, Radiator Silicon
D:75 L:230 (Black/Red/Blue)
GT 15103 99446639 Hortum, Radyatér Silikon
D:75 L:230
Siyah/Kirmizi/Mavi

222« 0.EM no's are used for reference purposes only and it is not implied that any part listed is the product of these manufacturer.



GRANTRUCK Group

m%é‘

GRANTRUCK

GRANTRUCK FOR SPARE PARTS

IVECO

RUBBER & METAL

MODELS

DESCRIPTION  PRODUCT

NAME

ORIGINAL
REFERENCE

GRANTRUCK  PRODUCT
REFERENCE

Radiator Hose Silicon
D:47-57 L:102 (Black/Red/Blue)
Radyatér Hortumu Silikon 41210945
D:47-57 L:102
Siyah/Kirmizi/Mavi

GT 15105

Transmission
H=90 Mounting
Sanziman Takozu

GT 15001

Bellow

Vites Korugu 0 4650 0022

GT 15002

D=@60
d=@32
h=41

Cabin Mounting
Kabin Takozu

500357265

GT 15050

Rubber Bushing
D=@37.,5 for Shock
d=@17,5 bsorber
h=33 Amortisér Kauguk
Burcu,Kabin

9319 2004

GT 15037

Silent Block
For Cabin
Bureg, Suruca
Kabini Yataklamasi

504008198

GT 15111

Rubber Bushing, Cab

Kauguk Burg, Kabin 8141581

GT 15138

h—
w
=
&
o
o™

Repair Kit, Cab

Tamir Takimi, Kabin 1908221

GT 15135

SY=Y
o

0.EM no’s are used for reference purpases only and it is not implied that any part listed is the product of these manufacturer. » 223



GRANTRUCK Group GRANTRUCK
GRANTRUCK FOR SPARE PARTS IVECO RUBBER & METAL
PRODUCT ~ GRANTRUCK  ORIGINAL ~PRODUCT NAME DIMENSIONS — MODELS

REFERENCE REFERENCE

Shock Absorber D=@34
GT 15043 931940 23 Amortisér Kaucguk d=214
Burcu,Kabin h=34
. h=27.,5
GT 15010 4100 6350 Spring Buffer W1=100
Makas Tamponu W=88.5
. h=79
Spring Buffer
GT 15011 471 5638 W1=173
Makas Tamponu W=60
GT 15012 813 8611 BSpring Suffer M10x 1,5
Makas Tamponu
Spring Buffer
GT3a15] 98405404 Makas Burcu
. h=25
GT 15030 5003 54985 Spiing Burtfef W1=13953
Makas Tamponu o
W=60
) D=@85
GT 15033 818 88 85 Spring Buffer d=@22
Makas Tamponu h=67,5
Rubber Bushing D=@62,5
GT 15006 816 0686 For Spring d=@20,5
Makas Burcu h=97

224« 0.EM no's are used for reference purposes only and it is not implied that any part listed is the product of these manufacturer



GRANTRUCK Group

gl

GRANTRUCK FOR SPARE PARTS IVECO RUBBER & METAL
MODELS DESCRIPTION PRODUCT ORIGINAL GRANTRUCK PRODUCT
NAME REFERENCE REFERENCE
Stabiliser Bearing Bush
Yataklama Stabilizator Rl OT Haioe .
D=064 Rubber Bushing
d=@37 For Spring 8 162 280 GT 15049
h=33 Makas Burcu
D=@62 ) O
d=028 Slleritblock 50033 6108 GT 15008
= Stabilizer Yatak
h=50
Bearing Stabiliser 8162306 GT 15150
Yataklama Stabilizator
D=078 Rubber Bushing
d=016 For Spring 500 351 393 GT 15051
h=633 Makas Burcu
Spring
Makas Burat 9841 3939 GT 15076 '
D=@35 mm Bush, Leaf Spring
d=16,5 mm Yatak Burcu, 8587681 GT 15083
h=40 mm Yaprak Yay j
Stabilizer Bar 41218902 GT 15113

Yatak Burcu, Stabilizatér

0.EM no’s are used for reference purposes only and it is not implied that any part listed is the product of these manufacturer.

> 225



GRANTRUCK Group GRANTRUCK
GRANTRUCK FOR SPARE PARTS IVECO RUBBER & METAL
PRODUCT ~ GRANTRUCK  ORIGINAL PRODUCT NAME DIMENSIONS  MODELS

REFERENCE REFERENCE

Rubber Bushing, Spring

GT 15119 93808935 Kauguk Burg, Makas

Rubber Bushing, Axle

GT 15123 93807640 Kauguk Burg, Dingil

Rubber Bushing,
Stabilizer Bar
Kauguk Burg,

Denge Kolu

GT 15132 4606624

Bearing, Stabilizer Bar

GT 15125 93802248 Yatak, Denge Kolu

Bearing, Stabilizer Bar

GT 15133 8585819 Yatak, Denge Kolu

Rubber Bushing,
Spring
Kauguk Burg,
Makas

GT 15121 98482540

Rubber Bushing, Axle

GT 15136 500350343 Kaucuk Burg; Dingil

Rubber Bushing,
Wishbone
Kauguk Burg,
Salincak

GT 15137 504277460

226« 0.EM no's are used for reference purposes only and it is not implied that any part listed is the product of these manufacturer



GRANTRUCK

GRANTRUCK FOR SPARE PARTS IVECO RUBBER & METAL
MODELS DESCRIPTION PRODUCT ORIGINAL GRANTRUCK PRODUCT
NAME REFERENCE REFERENCE

Rubber Bushing, Axle

Kauguk Burg, Dingil 500350342 GT 15127

Bearing Stabiliser

Yataklama Stabilizator 93810239

93817419 GT 15144

Repair Kit, Spring
Tamir Takimi, 504139797 GT 15160
Makas

Bushing Spring
Repair kit
Makas Burcu
Tamir Takimi

504011462 GT 15126

Repair Kit, Spring

Tamir Takimi, Makas 504112267 .

Rubber Bushing
D=@34 for Shock
d=016 Absorber 9319 4024 GT 15028
h=34 Amortisor Kauguk
Burcu

D=@34 Rubber Bushing

d=@16 for Shock 931 94024 GT 15044
h=34 Absorber

Amortisér Burcu

0.EM no’s are used for reference purpases only and it is not implied that any part listed is the product of these manufacturer. » 227



%

GRANTRUCK Group GRANTRUCK
GRANTRUCK FOR SPARE PARTS IVECO RUBBER & METAL
PRODUCT GRANTRUCK ORIGINAL PRODUCT NAME DIMENSIONS MODELS
REFERENCE REFERENCE
Rubber Bushing
for Shock
. GT 15117 93163009 Absorber
Amortisér Burcu
Rubber Bushing, D=0 94
d=@62
GT 15134 93163099 Sggﬁm(bgi'rzer S
Amortisor h=70
Stabilizer Half D=@75
Bushing d=042
GT 15007 816 9892 Stabilizer Yarim Ay h1 =70
Takoz h2=80
Staglljisz;L:alf D=395
GT 15029 2520 448 Stabilizer Yarim Ay (:/T/?g(f
Takoz -
Stabilizer Half
Bushing
GT 15042 25214 82 Stabilizer Yarim Ay
Takoz
- Half Bearing,
GT 15112 41015581 it:tg'l'('z;&r‘zjr
Stabilizator
Stabilizer Bar
GT 15114 8189831 Yatak Burcu,
i Stabilizator
Half Bearing,
GT 15120 98469635 %t:r'?r':q'zztzs’
Denge Kolu

228« 0.EM no's are used for reference purposes only and it is not implied that any part listed is the product of these manufacturer



iﬁ

©
GRANTRUCK Group GRANTRUCK
GRANTRUCK FOR SPARE PARTS IVECO RUBBER & METAL
MODELS DESCRIPTION PRODUCT ORIGINAL GRANTRUCK PRODUCT
NAME REFERENCE REFERENCE
Half Bearing,
Stabilizer Bar 41015581 GT 15122
Yarim Yatak, Denge
Half Bearing,
Stabilizer Bar 2521481 GT 15129
Yarim Yatak,
Denge Kolu
Half Bearing,
Stabilizer Bar
Yarim Yatak, 8189831 GT 15131
Denge Kolu
Bearing Stabiliser
Yataklama, Stabilizator 2521850 GT 15142 .
Bearing Bush, Stabiliser
Yataklama, Stabilizatér 98444831 GT a2 '
Half Bushing
Denge Kolu Burcu, 98444833 GT 15157
Yarim
Half Bushi
Y:rlmu\?atlgs 98444832 GT 15161 ’
D=@67 Ball Joint Kit *
d=319 Bugi Kolu Burcu 93163617 GT 15032
Ax=130 Takim

qf\y
(]

0.EM no’s are used for reference purpases only and it is not implied that any part listed is the product of these manufacturer.

> 229



m%&

GRANTRUCK Group GRANTRUCK
GRANTRUCK FOR SPARE PARTS IVECO RUBBER & METAL
PRODUCT GRANTRUCK ORIGINAL  PRODUCT NAME DIMENSIONS MODELS

REFERENCE REFERENCE

* Ball Joint B=02
GT 15060 9316 1938 Bugi Burcu h=50
O O M 16x1.5
Ball Joint Kit D=@75

GT 15031 09316 196 Bugi Kolu Burcu d=a21

@ Takim Ax=130
Ball Joint Kit D=@75

GT 15023 9319 2361 Bugi Kolu Burcu d=@19

Takim Ax=130

Ball Joint Kit D=@85

GT 15013 4253 5204 Bugi Kolu Burcu d=@21

Takim Ax=130

Ball Joint Kit D=0 85

GT 15005 04248 872 Bugi Kolu Burcu d=@ 19

@ Takim Ax=130
Ball Joint Kit D=@ 85

GT 15004 09319 261 Bugi Kolu Burcu d=g 21

Takim AX=152

Ball Joint Kit D=0 95

GT 15003 8 gg‘:g g‘éi’; Bugi Kolu Burcu d=@ 21

Takim AX=152

Repair Kit Axle _
6T 15009 9319 4458 Rod e

Tamir Takimi

()
0

230« 0.EM no's are used for reference purposes only and it is not implied that any part listed is the product of these manufacturer



GRANTRUCK

GRANTRUCK FOR SPARE PARTS IVECO RUBBER & METAL
MODELS DESCRIPTION PRODUCT ORIGINAL GRANTRUCK PRODUCT
NAME REFERENCE REFERENCE
— Ball Joint Kit ;@ L
M 90 D=072 Bugi Kolu Burcu 4253 5781 GT 15027 2
Takim & g) O @)
ceQ@e

Repair Kit , V Stay
Tamir Seti , Bugi Kolu

93162240 GT 15082 (DQOO

Ball Joint Kit
Bugi Kolu Burcu Takim 99101990 GT 15116 G(—\OO

Nz
==
L=1620 Rod Assembly 41036943 GT 15061
Uzun Rot
L=665
d=@21/21 t,’ SL"L‘: Q"I“ 8137026 GT 15048
Ax=130/130 ek iolu
D=Q60 Stabgiz::i:glastic
- GT
d _Q A Stabilizer Plastik SAZ1910 s
h=58
Yatak
D=@54 Stabli?l’izerh Plastic
= earing GT
43240 Stabilizer Plastik Br27a8s 15059
h=62
Yatak
D=072 . :
h=45 P';f:';.?‘és“r'”g 938 19387 GT 15063
M 20x1,5 SucSuE

0.EM no’s are used for reference purpases only and it is not implied that any part listed is the product of these manufacturer. » 231



@§é‘

GRANTRUCK Group GRANTRUCK
GRANTRUCK FOR SPARE PARTS IVECO RUBBER & METAL
PRODUCT GRANTRUCK ORIGINAL PRODUCT NAME DIMENSIONS MODELS
REFERENCE REFERENCE
. , D=046
GT 15068 938 19387 Stablllser Mounting d=032
Plastik Burg £
h=62
Stabilizer Plastic D=5 4
GT 15036 81254 92 Bearing d=034
Stabilizer Plastik K
h=62
Yatak
i : D=@42
GT 15038 812 74 23 Stabilizer Bushing d=@33
Burg,Denge Kolu =
h=27
Stabilizer Plastic
GT 15039 9843 1946 Bearing d=@46
Yatak,Denge Kolu
Stabilizer Plastic D=@54
GT 15040 812 54 91 Bearing d=@32
Yatak,Denge Kolu h=62
Stabilizer Plastic D=@54
GT 15041 812 54 90 Bearing d=@32
Yatak,Denge Kolu h=62
. ) D=@46
GT 15069 ggy7ens  Swmpiissr Mounling d=@136
Plastik Burg 2
h=62
2 5 D=@46
GT 15070 03814618  SwoiliserMounting  y-gyg
Plastik Bur¢ h=62

232«

0.EM no's are used for reference purposes only and it is not implied that any part listed is the product of these manufacturer



GRANTRUCK Group

GRANTRUCK
GRANTRUCK FOR SPARE PARTS IVECO RUBBER & METAL
MODELS DESCRIPTION PRODUCT ORIGINAL GRANTRUCK PRODUCT
NAME REFERENCE REFERENCE
D=057 . )
5 Stabiliser Mounting
d-_Q26 Denge Kolu Burcu 9381 4617 GT 15072
L=62
D=@40 Stabilizer Bearing ‘ "
L=58 Yataklama, Stabilizator 4792127 GT 15071 Q
\\.J g
Stabilizer Bearing v
Yataklama, Stabilizator 4796971 GT 15084 . ’
Stabilizer Bearing
Yataklama, Stabilizator 8125527 GT 13085
Stabilizer Bearing
Yataklama, Stabilizatér 1501081 GT 15107
Stabilizer Bearing
Yataklama, Stabilizator ~ 473%723 GT 15108
Stabilizer Bearing
Yataklama, Stabilizator 4740648 CT 13108
Stabilizer Bearing 4754678

Yataklama, Stabilizator

GT 15110 l'.‘

0.EM no’s are used for reference purpases only and it is not implied that any part listed is the product of these manufacturer. » 233



GRANTRUCK

GRANTRUCK FOR SPARE PARTS IVECO RUBBER & METAL

PRODUCT GRANTRUCK ORIGINAL  PRODUCT NAME DIMENSIONS MODELS
REFERENCE REFERENCE

l? Stabilizer Bearing
K GT 15139 99482437 Yataklama, Stabilizator
Stabilizer Bearing
' J GT 15140 98415468 Yataklama, Stabilizator

Stabilizer Bearing

GT 15141 4796746 Yataklama, Stabilizator
09984261 " Shaft n%?”te.'
GT 15022 42536526 “g':‘f’t AS:Z’I'”Q @ 35mm X 17mm 6207 2RS C3
42541021 Takimlari
5687 637 Shaft Center
GT 15021 4682 902 Support Bearing @ 40mm X 18mm
9316 0223 Saft Askisi 6208 2RS C3
6455 173 Takimlari
Shaft Center
GT 15064 42535254 S”g’;?t”Azzf‘srl'”g @40 mm
Takimlari
Shaft Center
GT 15065 93158251 S”g‘:%“@ﬁg‘“g @45 mm
Takimlari

Shaft Center
9315 6460 Support Bearing @ 45 mm X 16mm
4253 8439 Saft Askisi 6009 2RS C3
Takimlar

GT 15024

234« 0.EM no's are used for reference purposes only and it is not implied that any part listed is the product of these manufacturer



«&

00 ©
GRANTRUCK Group GRANTRUCK
GRANTRUCK FOR SPARE PARTS IVECO RUBBER & METAL
DESCRIPTION PRODUCT ORIGINAL GRANTRUCK PRODUCT
NAME REFERENCE REFERENCE
Shaft Center 4253 6523
@ 45mm X 19mm  Support Bearing 4614 631 GT 15020
6209 2RS C3 Saft Askisi 4639 052
Takimlari 4622 213
Shaft Center 819 4600
@ 55mm X 18mm  Support Bearing 819 0925 GT 15018
6011 2RS C3 Saft Askisi 931 60517
Takimlarn 931 60537
Shaft Center
@ 50mm X 20mm  Support Bearing 4765 836 GT 15019
6210mm 2RS C3 Saft Askisi 4503 320
Takimlari
Shaft Center
Support Bearing 42532295
Saft Askisi 42538367 GT 15147
Takimlari <
Shaft Center 480 3933
Support Bearing 9319 1989
(S0mm Saft Askisi 469 8110 GT 15046
Takimlari 473 8950 %
Shaft Center
@60mm x 22mm Support Bearing 9315 7125 GT 15014
6212 2RS C3 Saft Askisi 9315 7126
Takimiari
Shaft Center :
@65mm x 23mm  Support Bearing '
6211 2RS C3 Saft Askis| 9319 4978 CT 1018 {
Takimlari g
Shaft Center
@70mm x 20mm  Support Bearing 4208 7542 GT 15015
6014 2RS C3 Saft Askisi 4253 6964
Takimiari

0.EM no’s are used for reference purposes only and it is not implied that any part listed is the product of these manufacturer

» 235



GRANTRUCK

GRANTRUCK FOR SPARE PARTS IVECO RUBBER & METAL

PRODUCT GRANTRUCK ORIGINAL  PRODUCT NAME DIMENSIONS MODELS
REFERENCE REFERENCE

Shaft Center
Support Bearing @100mm x 13mm

Saft Askisi 61820 2RS C3
Takimlan

GT 15017 9319 2009

Propeller Shaft
GT 15045 248 35 46 Bearing
Saft Aski

Propeller Shaft

GT 15159 42536963 Bearing
Saft Aski

Shaft Center
GT 15075 1113033 Support Bearing
Saft Askisi

Joint Bearing

GT 15073 8138307 Besik Bilyasi

Joint Bearing

GT 15074 8138308 Besik Bilyas!

Mounting Kit
Mudguard
Lastik Kusak
Camurluk

GT 15156 42533556

Brake Repair Kit
"%.&?ﬁ.ﬂ eTA5162 93161872 Fren Tamir

Takimi

236« 0.EM no's are used for reference purposes only and it is not implied that any part listed is the product of these manufacturer



